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Question paper is divided into two Parts. Part A is compulsory for all examinees.
Part B is meant only for those who have not offered Computerized Accounts.
Part A and Part B are to be answered on separate answer boooks.
“ ' Attempt all questions. Show your working notes clearly.
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tart A

1. State clearly what accounting principles are followed or violated in each of the
- following cases:

(2) A company incurs a heavy amount of Rs.15,00,000 on publicity through T.V. and
Radio. It wishes to spread the expenditure over a period of five years.

(b) A company wishes to decrease the rate of depreciation from 15% to 10% in view of
the inadequate profits in the current year.
Turn over \§w 7
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2.

(c) Advance taken by Nidhi Motors from a customer is shown as income of the current

year.

“(d) A company commissions the making of a very special machine useful for a number
of years. As the machine is very special and no resale value in the event of

liquidation, it wishes to provide 100% depreciation in the current year itself.

.(e) The proprietor has withdrawn some goods from the busmess for his personal use. It
is not recorded it in the books of the firm.

(f) The life of business is assumed to be indefinite (going concern concept) yet
companies prepare their accounts annually.

(2) You started a business on 1 April 2014 (ﬁnancxal year closes on 31* March,2015).

Salaries for March 2015 were paid on 7 Apnl 2015. Monthly salaries bill amounts 7y
to Rs.llakh. Rs.12 lakh is shown in 2014-15 in Profit and Loss Afc. )
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From the undermentioned Trial Balance of Ajit, prepare the Profit & Loss account for
the year ended 31st March, 2015 and the Balance Sheet as on that date:

Particulars , K Dr.(Rs.) Cr.(Rs)
Land and Buildings : 50,000 - -
Purchases(Adjusted) - - : 2,10,000 -

Stock (March 31,2015) : 45,000 S
Returns , 1,500 2,500
Wages , : ' 45,300 -
Salaries : 39,000 T

| Office Expenses : 15,400 -
Carriage Inwards ' 1,200 -
Carriage Outwards , 2,000 - ;
Discount : = . 750z = 1,200
Bad Debts 11,200 -

Sales ‘ Sl 3,85,000
Capital Account - 1,15,000
Chhavi's Loan A/c(taken on 1-10-2014 @18% p.a.) - - 125,000
Insurance : 1,500
Commission - 1,500
Plant and Machinery ; 50,000 -
Furniture and Fixture : © 120,000 -

| Bills Receivable 20,000 -

. | Sundry Debtors - 140,000 |-

Sundry Creditors ' : - 25,000

Cash at Bank : : 16,000 -
Office Equipment . 112,000 -
Bills Payable S - 12,350
Expenses Payable ' : . - ' 3,300
: - 15,70,850 5,70,850

The following adjustments be taken care of:
. ) Depreciate Land and Building @ 6%, Plant and Machinery @10%, Office
~ equipment @20% and furniture and fixtures @15%.
ii) - Calculate provision for bad and doubtful debts at 2% on debtors.
iii)  Insurance Premium includes Rs.250 paid in advance.
iv) Provide interest on capital @ 10% p.a. and salary to A_] it Rs.15000 p.a.

(2)

OR

Turn over
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The following is the Receipts and Payments Account of Ahaan Ciub for the year
ended 31 December, 2014 .

} Receipts Rs.- Payments RS 0

Cash in hand(1-1-2014) 15,000 Bank overdraft (1-1-2014) 31,000
| Subscriptions: Investment in securities 30,000
2013 3,000 Furniture - 14,500
2014 1,62,000 Salaries 62,000

2015 ‘ 1,500 | 1,66,500{ Stationery and Printing 8,900
Income from entertainment 2,900 [Misc. Expenses 14,200

Entrance fees 6,700 Balance on 31-12-2014
Interest on Securities 4,800 CashinHand  5,500|

Sale proceeds of old chairs 1,200 |Cash at bank 31,000{ 36,500

1,97,100 1,97,100

- Prepare Income and Expenditure Account of the Club for the year ended 31 December, 2014,
and a Balance Sheet as at that date having due regard to the following additional information:

(i)The Club has 1,800 members, each paying an annual subscription of Rs. 100; Subscription
amounting to Rs. 900 are in-arrears in respect of the year, 2013.

(i)Stock of stationery on 31 st December, 2013 was R@‘ 1,250 and at 31 st December 2014
Rs. 870.

(ili)Entrance fees are to be capitalised. . : :
(iv)Salary of Rs. 5,500 for December 2014 is outstandmg Expenses accrumg at 31st

December, 2013 amounted to Rs. 1,320. The Club has paid Rs.5,500 in the year 2013 towards
telephone charges of which Rs. 1,250 relate to 2014.

(v)  As on 3ist December, 2013 Premises stand in the books at Rs. 2,45,000 and
Investments at Rs. 65,000. Depreciate Premises and Furniture by 5 percent. (]2)
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2014 1,62,000 LR L - 62,000
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3. Following facts have been ascertained from the records of Prateek who maintains
books of accounts under the single entry system. Receipts for the year ended 31-3-2015 :

. From Sundry debtors Rs.88,125; Cash sales Rs 20,625; Paid in by the proprietor Rs 12,500.
Payments made during the year ended 31-3-2015 :

New plant purchased Rs 3,125; Drawings Rs 7,500; Wages Rs 33,625; Salaries Rs 5,625;
Interest paid Rs 375; Telephone Rs 625; Rent Rs 6,000; Light and Power {Direct) Rs 2,375;
Sundry expenses Rs 10,625; Sundry Creditors Rs 38125. It may be noted that he banks all
receipts and makes all payments only by means of cheques.

Assets and Liabilities : As at 31-3-2014 : As at 31-3-2015
Sundry Creditors . 12,625 12,000

Sundry Debtors 18,750 30,625

Bank | 3125 ?

Stock 31,250 : 15,625

Plant 37,500 ; 36,575
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From the above data, prepare the Trading and Profit & Loss A/c for the year ended 31-3-2015
and Balance Sheet as on that date. 123

; OR
a) Distinguish between Hire Purchase and Instalment Purchase Systems. : (4)

b) Nitin sells goods at hire purchase basis, the price being cost plus 50%. From the
following details, calculate profit by preparing ledger accounts on stock and debtors
system for the year ended 31 st March, 2015 : :

Rs.
April 1%2014 Stock at shop at cost : 36,000
April 1¥2014 Stock out with H.P.Customers at selling price 18,000
April 12014 H.P.Debtors 10,000
March 31% 2015 Cash received from Customers : - 1,20,000
| Goods repossessed (Rs.4000) valued at 1,200
H.P.Debtors at the end of the year,: 18,000
Stock at the shop at the end of the year 40,000
Stock out with H.P. customers at selling price 60,000
Purchases made during the year : 1,20,000

(8)
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4. a) Distinguish between a dependent branch and an independent branch. (3.
b) Vaani Ltd. has a branch at Delhi. Goods are invoiced from Head office at cost plus
33-1/3%. You are required to prepare Branch Account from following details: -
Opening Balances: Rs.
Debtors 10,000 o
Petty Cash 1,000
Furniture 2,000 By
Stock(1.P.) 8,000 |
Cash sent by Head office for Petty Expenses 2,000
Branch Expenses and Losses: : —
Freight and Advertisement _ 15,600 h
Bad Debts 30 B
Depreciation on Furniture 80 kL
Petty Expenses : 1,500 '
Sales: EL
Cash o : 50,000 ;
Credit : . 36,000 T
Goods returned by Debtors : 800 -
Goods returned by Branch to Head Office ~ 2,000 |
Cash received from Debtors : : 20,000 L
Stock at the end at I.P. < : 7,800
Goods invoiced by Head Office during the year , 88,000 (8)
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Meenakshi Stores Ltd. with their Head Office in Delhi, invoiced goods to its branch at
Noida at 20% less than the list price which is cost plus 100% with instructions that cash
~ sales were to be made at invoice price and credit sales at list price. From the following
particulars, prepare Branch Stock Account, Branch Debtors Account, Branch Expenses

Account, Branch Adjustment Account and Branch Profit and Loss Account for the year

ended 31 st December, 2014 : .
: i A Rs.

Branch stock on 1-1-2014 at cost to Branch 40,000
Branch Debtors on 1-1-2014 : : 30,000

Goods received from H.O. at invoice price ' 3.60.000

Cash sales : - 90,000

Credit Sales : 3,00,000

Cash received from Debtors ; 2,40,000

Goods in transit , - 40,000
Branch expenses , : : 40,000

Bad debts : 2,000

Loss of goods by Fire At Invoice price : 2,400
Transfer of goods to Faridabad branch at I.P. 6,000
Pilferage at I.P.(Normal) ; 1,000
Remittance to Head Office . 3,30,000
Insurance claim admitted against loss by fire : 1,200
Branch stock on 31-12-2014 at L.LP. . : 60,000
Branch Debtors on 31-12-2014 88,000 (12)
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5. a) Write a short note on perpetual system of inventory valuation. (4 )
b) State the need for depreciation . Explain straight line method and diminishing balance
method of depeeciation. : (8
OR

Abeer Ltd. purchased on 1* October, 2010 a machinery for Rs.4,50,000 and spent
Rs.10,000 on freight and transit insurance. On 25" December, 2010, it further spent Rs 40,000 on
its erection. The machinery was put to use on 1-1-2011. On 1st July 2011, it purchased another
machinery for Rs. 1,00,000. During the year 2012, it spent Rs 10,000 for repairs on 1-4-2012.

: However, on 1-4-2013, a_part of machinery, purchased on 1-10-2010, costing Rs.
2,00,000 was sold for Rs. 1,50,000. On 1-10-2013 it purchased another machinery for Rs
3,00,000.

On 1% July, 2014, however, machinery purchased on 1% July, 2011 was sold for
Rs 65,000.Depreciation was charged by firm @10% p.a. by written down value method. During
the year 2014, Abeer Ltd. decided to change the method of providing depreciation and adopted
the Straight Line Method of charging depreciation @10%p.a. Prepare Machinery Account as per

the provisions of AS-6 upto the year ending 31-12-2014. ( 12 )
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PART B

1. (A) Explain the maximum loss method of piecemeal distribution of cash. (5)
(B) A, Band C, sharing profits and losses in the ratio of 5 : 3 : 2 respectively, decided to
dissolve their firm on 31st March, 2015 when their Balance Sheet was as follows:

Liabilities Rs. : Assets Rs.
Creditors 30,000 | Sundry Assets 60,000
Bank Loan 10,000 | Profit & Loss A/c 40,000
A’s Capital Alc 30,000 ~ :

B’s Capital A/c 20,000
C’s Capital A/c 10,000 »
1,00,000 1,00,000

The Bank had a charge on all the assets which realized Rs. 29,000 in all. B’s private
estate realized Rs. 6,000 and private creditors were Rs. 5,000.

C was unable to contrxbute anything. A pald one-thlrd of amount due from him except

that on account of other partners.

You are required to prepare the necessary ledger accounts passing all matters relating to

the realization of all assets and payment of liabilities through the Realisation Account 15 )

OR
- (a) Explain the accounting treatment when all the partners of a firm are insolvent? (5 )

(b) Arun, Varun, Raman and Shravan are partners sharing profits in the ratio of .
4 :1:2: 3 respectively. The following is their balance sheet as at 31 st March, 2015 :

Liabilities Rs. : Assets Rs.
Sundry Creditors 3,00,000 Cash at Bank -1,40,000
Arun’s Capital 7,00,000 | Sundry Debtors 3,50,000
Shravan Capital 3,00,000 | Less: Provision for '

: Bad Debts 50,0001 3,00,000
Stock ' 2,00,000
Fixed Assets 3,10,000
Varun’s Capital 2,00,000
Raman’s Capital 1,50,000
13,00,000 13,00,000
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The firm is dissolved. Arun t
and Fixed Assets realise Rs. 4,90,000.
book value. Expenses of realization co
his private estate is able to pay Rs.21
capital deficiency is to be borne by the p:

Prepare Realisation Account,

12
akes over Sundry Debtors at 80% of the book value. Stock
Raman agrees to discharge Sundry Creditors at
me to Rs. 30,000. Varun is found insolvent and
,000 only to the firm. The loss arising out of
artners according to the GarnerVs.Murray
Cash Account and the Capital Accounts of the partners.

(15)
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